# On three types of (2, k)-distance Fibonacci numbers and number decompositions

Urszula Bednarz, Dorota Bród, Iwona Włoch, Małgorzata Wołowiec-Musiał

Rzeszów University of Technology
Faculty of Mathematics and Applied Physics
al. Powstańców Warszawy 12, 35-959 Rzeszów, Poland
e-mail: ubednarz@prz.edu.pl, dorotab@prz.edu.pl,
iwloch@prz.edu.pl, wolowiec@prz.edu.pl

#### Abstract

In this paper we define new generalizations of Fibonacci numbers and Lucas numbers in the distance sense. These generalizations are closely related to the concept of (2, k)-distance Fibonacci numbers presented in [10]. We show some applications of these numbers in number decompositions and we also define a new type of Lucas numbers.

Keywords: generalized Fibonacci numbers, decomposition of a number, generalized Lucas numbers, distance Fibonacci numbers

MSC 11B37, 11C20, 15B36, 05C69

#### 1 Introduction

The well-known Fibonacci numbers  $F_n$  are defined for  $n \geq 2$  by recurrence relation  $F_n = F_{n-1} + F_{n-2}$  with initial terms  $F_0 = F_1 = 1$ . The Lucas numbers  $L_n$  are defined by the same recurrence  $L_n = L_{n-1} + L_{n-2}$  for  $n \geq 2$  with  $L_0 = 2$ ,  $L_1 = 1$ . There are many various generalizations of the Fibonacci numbers in the literature. Some types of generalizations of the Fibonacci numbers are called generalizations in the distance sense. For an arbitrary integer k,  $k \geq 1$ , the nth generalized Fibonacci number is defined recursively by adding two previous terms such that exactly one of these numbers is the (n-k)th generalized Fibonacci number. Then the second term is taken in such way that the recurrence linear equation generalizes the Fibonacci numbers in classical sense. Some types of distance Fibonacci numbers were introduced and studied quite recently, for example

1. [6] 
$$F(k,n) = F(k,n-1) + F(k,n-k)$$
 for  $n \ge k+1$  and  $F(k,n) = n+1$  for  $n \le k$ ,

2. [2] 
$$Fd(k, n) = Fd(k, n-k+1) + Fd(k, n-k)$$
 for  $n \ge k$  and  $Fd(k, n) = 1$  for  $n \le k-1$ ,

3. 
$$[10]$$
  $F_2^{(1)}(k,n) = F_2^{(1)}(k,n-2) + F_2^{(1)}(k,n-k)$  for  $n \ge k$  and  $F_2^{(1)}(k,n) = 1$  for  $n \le k-1$ .

Another interesting generalizations of Fibonacci numbers can be found in [3, 4, 5, 8, 9]. Our paper is a sequel of papers [1] and [10]. We introduce two new kinds of (2, k)-distance Fibonacci numbers and we show that they are closely related to special number decompositions and there are interesting relations between them.

Let  $k \geq 1$ ,  $n \geq 0$  be integers, j = 1, 2, 3. Then (2, k)-distance Fibonacci numbers of the jth kind  $F_2^{(j)}(k, n)$  we define in the following way

$$F_2^{(j)}(k,n) = F_2^{(j)}(k,n-2) + F_2^{(j)}(k,n-k) \text{ for } n \ge k+1$$
 (1)

and

$$F_2^{(1)}(k,n) = \begin{cases} 1 & \text{if } n \leq k-1 & \text{or } n=k=1, \\ 2 & \text{if } n=k \geq 2, \end{cases}$$

$$F_2^{(2)}(k,n) = \left\{ \begin{array}{ll} 0 & \text{if } n \text{ is odd} & \text{and } n \leq k-1, \\ 1 & \text{if } n \text{ is even} & \text{and } n \leq k-1, \end{array} \right.$$

$$F_2^{(2)}(k,k) = \begin{cases} 0 & \text{if } k = 1, \\ 1 & \text{if } k \text{ is odd} \\ 2 & \text{if } k \text{ is even,} \end{cases} \text{ and } k \ge 3,$$

$$F_2^{(3)}(k,n) = \left\{ \begin{array}{ll} 1 & \text{if $n$ is even} & \text{and $n \leq k-1$,} \\ 2 & \text{if $n$ is odd} & \text{and $n \leq k-1$,} \end{array} \right.$$

$$F_2^{(3)}(k,k) = \left\{ \begin{array}{ll} 3 & \text{if } k \text{ is odd} & \text{and} & k \ge 3, \\ 2 & \text{if } k \text{ is even} & \text{or} & k = 1. \end{array} \right.$$

Tables 1,2,3 present the initial numbers  $F_2^{(j)}(k,n)$  for some values k and n.

Tab.1. (2, k)-distance Fibonacci numbers  $F_2^{(1)}(k, n)$  of the first kind

n	0	1	2	3	4	5	6	7	8	9	10	11	12	13
$F_2^{(1)}(1,n)$	1	1	2	3	5	8	13	21	34	55	89	144	233	377
$F_2^{(1)}(2,n)$	1	1	2	2	4	4	8	8	16	16	32	32	64	64
$F_2^{(1)}(3,n)$	1	1	1	2	2	3	4	5	7	9	12	16	21	28
$F_2^{(1)}(4,n)$	1	1	1	1	2	2	3	3	5	5	8	8	13	13
$F_2^{(1)}(5,n)$	1	1	1	1	1	2	2	3	3	4	5	6	8	9
$F_2^{(1)}(6,n)$	1	1	1	1	1	1	2	2	3	3	4	4	6	6

Tab.2. (2,k)-distance Fibonacci numbers  $F_2^{(2)}(k,n)$  of the second kind

n	0	1	2	3	4	5	6	7	8	9	10	11	12	13	14
$F_2^{(2)}(1,n)$	1	0	1	1	2	3	5	8	13	21	34	55	89	144	233
$F_2^{(2)}(2,n)$	1	0	2	0	4	0	8	0	16	0	32	0	64	0	128
$F_2^{(2)}(3,n)$	1	0	1	1	1	2	2	3	4	5	7	9	12	16	21
$F_2^{(2)}(4,n)$	1	0	1	0	2	0	3	0	5	0	8	0	13	0	21
$F_2^{(2)}(5,n)$	1	0	1	0	1	1	1	2	1	3	2	4	4	5	7
$F_2^{(2)}(6,n)$	1	0	1	0	1	0	2	٥	3	0	4	0	6	0	9

Tab.3. (2,k)-distance Fibonacci numbers  $F_2^{(3)}(k,n)$  of the third kind

n	0	1	2	3	4	-5	6	7	8	9	10	11	12	13
$F_2^{(3)}(1,n)$	1	2	3	5	8	13	21	34	55	89	144	233	377	610
$F_2^{(3)}(2,n)$	1	2	2	4	4	8	8	16	16	32	32	64	64	128
$F_2^{(3)}(3,n)$	1	2	1	3	3	4	6	7	10	13	17	23	30	40
$F_2^{(3)}(4,n)$	1	2	1	2	2	4	3	6	5	10	8	16	13	26
$F_2^{(3)}(5,n)$	1	2	1	2	1	3	3	4	5	5	8	8	12	13
$F_2^{(3)}(6,n)$	1	2	1	2	1	2	2	4	3	6	4	8	6	12

We recall that numbers  $F_2^{(1)}(1,n)$  are the classical Fibonacci numbers  $F_n$ . For k=2 we obtain known sequence with powers of 2 which double up. If k=3 then  $\{F_2^{(1)}(3,n)\}$  is the well-known Padovan sequence  $\{Pv(n)\}$  defined by the recurrence relation Pv(n)=Pv(n-2)+Pv(n-3) for  $n\geq 3$  with Pv(0)=Pv(1)=Pv(2)=1.

For introduced in this paper numbers  $F_2^{(2)}(k,n)$  and  $F_2^{(3)}(k,n)$  it is easily seen that  $F_2^{(2)}(1,n)=F_{n-2}$  for  $n\geq 3$  and  $F_2^{(2)}(4,2n)=F_n$  for  $n\geq 1$ . The numbers  $F_2^{(2)}(4,2n)$  for  $n\geq 1$  are Fibonacci numbers interspersed with zeros ([7]). Moreover,  $F_2^{(2)}(3,n)=Pv(n)$ .

By the definition of numbers  $F_2^{(3)}(k,n)$ , we obtain that  $F_2^{(3)}(1,n) = F_{n+1}$  and for  $n \geq 1$   $F_2^{(3)}(4,2n) = F_n$ . Moreover, by the definition of numbers  $F_2^{(j)}(k,n)$ , j=1,2,3 we get for  $k \geq 1$  and  $n \geq 0$  the following

relations

$$F_2^{(3)}(k,n) = F_2^{(1)}(k,n)$$
 for even  $n$  and even  $k$ ,  $F_2^{(3)}(k,n) = 2F_2^{(1)}(k,n)$  for odd  $n$  and even  $k$ ,  $F_2^{(2)}(k,2n) = F_2^{(3)}(k,2n)$  for even  $k$ ,  $F_2^{(2)}(k,2n+1) = 0$  for even  $k$ .

## 2 Interpretations of numbers $F_2^{(j)}(k,n)$ for j = 1, 2, 3

In this section we present some interpretations of (2, k)-distance Fibonacci numbers with respect to special number decompositions. In [10] the combinatorial interpretations of the number  $F_2^{(1)}(k,n)$  with respect to special number decompositions of an integer n into parts 2 and k were studied. We shall show combinatorial interpretations for the other kinds of (2, k)-distance Fibonacci numbers which are closely related to number decompositions. We recall that by a decomposition of an integer n we mean an ordered number partition, for example n0 and n1 are two distinct decomposition of an integer 5 into parts 2 and 3.

We say that a sum  $n_1+n_2+\ldots+n_t$  is a (2,k)-decomposition of the number n if  $n_i \in \{2,k\}$  for  $i=1,\ldots,t$ . The number of all (2,k)-decompositions we will denote by  $\sigma_0(k,n)$ . A sum  $1+n_1+n_2+\ldots+n_t$  (or  $n_1+n_2+\ldots+n_t+1$ ) is a  $(2,k)_1$ -decomposition,  $(2,k)_1$ -decomposition, respectively, of the number n if  $n_i \in \{2,k\}$  for  $i=1,\ldots,t$ . The number of all  $(2,k)_1$ -decompositions  $((2,k)_1$ -decompositions) we will denote by  $\sigma_1$ -(k,n) ( $\sigma_1$ +(k,n), respectively). Clearly,

$$\sigma_{1+}(k,n) = \sigma_{1-}(k,n).$$
 (2)

Let  $\sigma_{\geq 1^-}(k,n)$  be the number of all (2,k)-decompositions and  $(2,k)_1$ -decompositions of the number n. In the other words

$$\sigma_{\geq 1^{-}}(k,n) = \sigma_{1^{-}}(k,n) + \sigma_{0}(k,n) \tag{3}$$

and analogously

$$\sigma_{\geq 1^{+}}(k,n) = \sigma_{1^{+}}(k,n) + \sigma_{0}(k,n). \tag{4}$$

Consequently,

$$\sigma_{\geq 1^{-}}(k,n) = \sigma_{\geq 1^{+}}(k,n). \tag{5}$$

We will use the following notation

$$\sigma(k,n) = \sigma_{1-}(k,n) + \sigma_{0}(k,n) + \sigma_{1+}(k,n). \tag{6}$$

It has been proved.

Theorem 1 [10] Let  $k \geq 3$ ,  $n \geq 2$  be integers. Then  $\sigma_{\geq 1^+}(k,n) = F_2^{(1)}(k,n)$ .

In this paper we give more general result for all three kinds of (2, k)-distance Fibonacci numbers.

**Theorem 2** Let  $k \geq 3$ ,  $n \geq 2$  be integers. Then

$$\sigma_{\geq 1^{-}}(k,n) = \sigma_{\geq 1^{+}}(k,n) = F_2^{(1)}(k,n),$$
 (7)

$$\sigma_0(k,n) = F_2^{(2)}(k,n),$$
 (8)

$$\sigma(k,n) = F_2^{(3)}(k,n). (9)$$

Proof. The equality (7) follows immediately from (5) and by Theorem 1. We shall show that  $\sigma_0(k,n)=F_2^{(2)}(k,n)$ . Let  $n=1,2,\ldots,k-1$ . If  $n=2p,\ p\geq 1$ , then there is a unique (2,k)-decomposition of the number n of the form  $n=n_1+n_2+\ldots+n_p$ , where  $n_i=2$  for  $i=1,\ldots,p$ . Hence  $\sigma_0(k,n)=1$ . If n=2p+1 for  $p\geq 0$ , then there is no a (2,k)-decomposition of the number n on terms 2 and k, thus  $\sigma_0(k,n)=0$ . For n=k we have to distinguish two possibilities. If k is even then either n=k or  $n=n_1+n_2+\ldots+n_t$ , where  $n_i=2$  for  $i=1,\ldots,t$ . Hence  $\sigma_0(k,k)=2$ . If k is odd then there is the unique (2,k)-decomposition of the number n.

Let  $n \geq k+1$ . Assume that the equality (8) is true for an arbitrary number n. We shall show that  $\sigma_0(k,n+1)=F_2^{(2)}(k,n+1)$ . Let  $n+1=n_1+n_2+\ldots+n_p$  be a (2,k)-decomposition of the number n+1. We consider two possibilities either  $n_p=k$  or  $n_p=2$ . In each case we obtain a (2,k)-decomposition either of the number n-1 or n+1-k. Consequently  $\sigma_0(k,n+1)=\sigma_0(k,n-1)+\sigma_0(k,n+1-k)$ . Using the induction hypothesis and the definition of  $F_2^{(2)}(k,n)$ , we obtain that

$$\sigma_0(k, n+1) = F_2^{(2)}(k, n-1) + F_2^{(2)}(k, n+1-k) = F_2^{(2)}(k, n+1),$$

which ends the proof of (8).

Now we shall show that  $\sigma(k,n) = F_2^{(3)}(k,n)$ . By (2), we have that

$$\sigma(k,n) = \sigma_{1^-}(k,n) + \sigma_0(k,n) + \sigma_{1^+}(k,n)$$

and next by (2) and the above point of this theorem we get

$$\begin{split} \sigma(k,n) &= \sigma_{\geq 1^{-}}(k,n) - \sigma_{0}(k,n) + \sigma_{0}(k,n) + \sigma_{\geq 1^{+}}(k,n) - \sigma_{0}(k,n) = \\ &= 2F_{2}^{(1)}(k,n) - F_{2}^{(2)}(k,n). \end{split}$$

We need to prove Claim.

$$2F_2^{(1)}(k,n) - F_2^{(2)}(k,n) = F_2^{(3)}(k,n).$$
 (10)

*Proof* (by induction on n). If n = k then the result is obvious. Let n > k. Assume that the formula (10) is true for an arbitrary n. We will prove it for n + 1. By the recurrence definitions of the numbers  $F_2^{(j)}(k,n)$ , j = 1,2,3 and by the induction hypothesis, we obtain

$$F_2^{(3)}(k, n+1) = F_2^{(3)}(k, n-1) + F_2^{(3)}(k, n+1-k) =$$

$$= 2F_2^{(1)}(k, n-1) - F_2^{(2)}(k, n-1) + 2F_2^{(1)}(k, n+1-k) +$$

$$- F_2^{(2)}(k, n+1-k) = 2F_2^{(1)}(k, n+1) - F_2^{(2)}(k, n+1),$$

which completes the proof.

Corollary 3 Let  $k \ge 1$ ,  $n \ge 0$  be integers. Then

$$F_2^{(2)}(k,n) + F_2^{(3)}(k,n) = 2F_2^{(1)}(k,n).$$

Let  $\sigma_{\pm 1}(k, n)$  be the number of all decompositions of the number  $n=a_1+a_2+\ldots+a_p$ , where  $a_i\in\{2,k\}$  for  $i=2,\ldots,p-1$  and  $a_1,a_p\in\{1,2,k\}$ .

**Theorem 4** Let  $k \geq 3$  and  $n \geq k$  be integers. Then

$$\sigma_{\pm 1}(k,n) = F_2^{(1)}(k,n-1) + F_2^{(1)}(k,n-2) + F_2^{(1)}(k,n-k).$$

*Proof.* Let  $k \geq 3$  and  $n \geq k$  be integers and let  $n = a_1 + a_2 + \ldots + a_p$  be the decomposition of the number n such that  $a_i \in \{2, k\}$  for  $i = 2, \ldots, p-1$  and  $a_1, a_p \in \{1, 2, k\}$ . Then we can write

$$n - a_p = a_1 + a_2 + \ldots + a_{p-1}.$$

It is clear that  $a_1 + a_2 + \ldots + a_{p-1}$  is either  $(2,k)_1$ -decomposition or (2,k)-decomposition of the number  $n-a_p$ . By the assumption that  $a_p \in \{1,2,k\}$  and by (7), we obtain that

$$\sigma_{\pm 1}(k,n) = F_2^{(1)}(k,n-1) + F_2^{(1)}(k,n-2) + F_2^{(1)}(k,n-k)$$

and the proof is complete.

Consider another type of the decomposition of the number n. For  $k \geq 3$  and  $n \geq k$  let  $n = a_1 + a_2 + \ldots + a_p$  be the decomposition of n such that  $a_1 = a_p = 1$  and  $a_i \in \{2, k\}$  for  $i = 2, \ldots, p-1$ . Denote by  $\overline{\sigma}_{\pm 1}(k, n)$  the number of all such decompositions of n.

**Theorem 5** Let  $k \geq 3$ ,  $n \geq k$  be integers. Then

$$\overline{\sigma}_{\pm 1}(k,n) = F_2^{(2)}(k,n-2).$$
 (11)

*Proof.* Let  $k \geq 3$  and  $n \geq k$  be integers and let  $n = 1 + a_2 + \ldots + a_{p-1} + 1$ , where  $a_i \in \{2, k\}$  for  $i = 2, \ldots, p-1$ . Hence we can write

$$n-2=a_1+a_2+\ldots+a_{p-1}.$$

It is easily seen that it is a (2, k)-decomposition of the number n-2. By Theorem 2 we obtain that

$$\overline{\sigma}_{\pm 1}(k,n) = F_2^{(2)}(k,n-2),$$

which ends the proof.

Corollary 6 Let  $k \geq 3$ ,  $n \geq k$  be integers. Then

$$F_2^{(2)}(k, n-2) = F_2^{(1)}(k, n-1) - F_2^{(2)}(k, n-1).$$

*Proof.* By the decomposition of n we obtain

$$n-1=1+a_2+\ldots+a_{p-1}$$

and it is a  $(2, k)_{1-}$ -decomposition of the number n-1. Hence by (4) and Theorem 2 we obtain that

$$\overline{\sigma}_{+1}(k,n) = F_2^{(1)}(k,n-1) - F_2^{(2)}(k,n-1). \tag{12}$$

Using both formulas (11) and (12), we obtain that

$$F_2^{(2)}(k,n-2) = F_2^{(1)}(k,n-1) - F_2^{(2)}(k,n-1).$$

Analogously as classical Fibonacci numbers  $F_n$ , the (2, k)-distance Fibonacci numbers  $F_2^{(j)}(k, n)$  can be extended to negative integers n. Let  $k \geq 3$ ,  $n \geq 1$  be integers. Then for j = 1, 2, 3

$$F_2^{(j)}(k,-n) = F_2^{(j)}(k,k-n) - F_2^{(j)}(k,k-2-n)$$
 for  $n \ge 1$ 

with initial conditions

$$F_2^{(j)}(k,0) = 1 \text{ for } j = 1,2,3,$$

$$F_2^{(1)}(k,1) = 1,$$

$$F_2^{(2)}(k,1) = 0,$$

$$F_2^{(3)}(k,1) = 2.$$

Moreover, for  $n \ge 1$ 

$$F_2^{(2)}(1,-n) = (-1)^n F_2^{(2)}(1,n+2),$$
  

$$F_2^{(3)}(1,-n) = (-1)^{n+1} F_2^{(3)}(1,n-4).$$

Tables 4,5 includes initial (2, k)-distance Fibonacci numbers of the second and of the third kind for special k and some negative n.

Tab.4. (2, k)-distance Fibonacci numbers of the second kind for negative n

n	-7	-6	-5	-4	-3	-2	-1	0	1
$F_2^{(2)}(1,n)$	-21	13	-8	5	-3	2	-1	1	0
$F_2^{(2)}(3,n)$	-1	0	1	-1	1	0	0	1	0
$F_2^{(2)}(4,n)$	0	-1	0	1	0	0	0	1	0
$F_2^{(2)}(5,n)$	0	0	1	0	0	0	0	1	0

Tab.5. (2, k)-distance Fibonacci numbers of the third kind for negative n

n	-7	-6	-5	-4	-3	-2	-1	0	1
$F_2^{(3)}(1,n)$	5	-3	2	-1	1	0	1	1	2
$F_2^{(3)}(3,n)$	3	-2	1	1	-1	2	0	1	2
$F_2^{(3)}(4,n)$	4	-1	-2	1	2	0	0	1	2
$F_2^{(3)}(5,n)$	-2	0	1	2	0	0	0	1	2

### 3 Identities and relations between (2, k)-distance Fibonacci numbers

In this section we present some identities for (2, k)-distance Fibonacci numbers of the second and the third kind. Moreover, we show some relations between (2, k)-distance Fibonacci numbers of three kinds.

**Theorem 7** Let  $n \ge 0$ ,  $k \ge 3$  be integers. Then for j = 2, 3

$$\sum_{i=0}^{n} F_2^{(j)}(k, ki+m) = F_2^{(j)}(k, nk+m+2) \text{ for } 0 \le m \le k-3.$$
 (13)

**Proof** (by induction on n). We give the proof for j=3 and m=0. Analogously we can prove formula (13) for j=2 and remaining values of m.

For n=0 we have  $F_2^{(3)}(k,0)=1=F_2^{(3)}(k,2)$ . Assume that equality (13) holds for an arbitrary  $n\geq 0$ . We will prove it for n+1. By the induction hypothesis and the definition of  $F_2^{(3)}(k,n)$ , we get

$$\begin{split} &\sum_{i=1}^{n+1} F_2^{(3)}(k,ki) = \sum_{i=0}^{n} F_2^{(3)}(k,ki) + F_2^{(3)}(k,nk+k) = \\ &= F_2^{(3)}(k,nk+2) + F_2^{(3)}(k,nk+k) = F_2^{(3)}(k,nk+k+2), \end{split}$$

which ends the proof.

**Theorem 8** Let  $n \ge 0$ ,  $k \ge 3$  be integers. Then

$$(i)\sum_{i=0}^{n}F_{2}^{(2)}(k,ki+m) = F_{2}^{(2)}(k,nk+m+2) \text{ for } m=k-1,$$

(ii) 
$$\sum_{i=0}^{n} F_2^{(3)}(k, ki+m) = F_2^{(3)}(k, nk+m+2) - 2$$
 for  $m = k-1$ ,

(iii) 
$$\sum_{i=0}^{n} F_2^{(2)}(k, ki+m) = F_2^{(j)}(k, nk+m+2) - 1$$
 for  $m = k-2$  or  $m = k$ .

This theorem we can prove analogously as Theorem 7, so we omit the proof.

Theorem 9 For  $k \ge 1$ ,  $n \ge 2k - 2$  and j = 2, 3

$$F_2^{(j)}(k,n) = F_2^{(j)}(k,n-2) + F_2^{(j)}(k,n-k+2) - F_2^{(j)}(k,n-2k+2).$$

*Proof.* We give the proof for j = 3. By the definition of numbers  $F_2^{(3)}(k, n)$ , we have

$$\begin{split} F_2^{(3)}(k,n-2) + F_2^{(3)}(k,n-k+2) - F_2^{(3)}(k,n-2k+2) &= \\ &= F_2^{(3)}(k,n-2) + F_2^{(3)}(k,n-k) + F_2^{(3)}(k,n-2k+2) \\ &- F_2^{(3)}(k,n-2k+2) &= F_2^{(3)}(k,n-2) + F_2^{(3)}(k,n-k) = F_2^{(3)}(k,n). \end{split}$$

For j = 2 we prove analogously.

Theorem 10 For  $n \ge 0$  and odd  $k \ge 1$ 

(i) 
$$\sum_{i=0}^{n} F_2^{(2)}(k,2i) = F_2^{(2)}(k,k+2n),$$

(ii) 
$$\sum_{i=0}^{n} F_2^{(2)}(k, 2i+1) = F_2^{(2)}(k, k+2n+1).$$

Corollary 11 For  $n \ge 0$  and odd  $k \ge 1$ 

(i) 
$$\sum_{i=0}^{2n} F_2^{(2)}(k,i) = F_2^{(2)}(k,k+2n-1) + F_2^{(2)}(k,k+2n) - 1$$
,

(ii) 
$$\sum_{i=0}^{2n+1} F_2^{(2)}(k,i) = F_2^{(2)}(k,k+2n) + F_2^{(2)}(k,k+2n+1) - 1.$$

Theorem 12 For  $n \ge 0$  and even  $k \ge 1$ 

(i) 
$$\sum_{i=0}^{n} F_2^{(2)}(k,2i) = F_2^{(2)}(k,k+2n) - 1$$
,

(ii) 
$$\sum_{i=0}^{n} F_2^{(2)}(k, 2i+1) = 0.$$

Analogously as it was for positive numbers, we can prove by induction the following identities for (2, k)-distance Fibonacci numbers for negative integers.

Theorem 13 Let  $n \geq 0$ . Then

(i) 
$$\sum_{i=1}^{n} F_2^{(j)}(k, -ki + m) = -F_2^{(j)}(k, -nk - k + 2 + m) \text{ for } j = 2, 3$$
and  $0 \le m \le k - 3$ ,

(ii) 
$$\sum_{i=1}^{n} F_2^{(j)}(k, -ki + m) = -F_2^{(j)}(k, -nk - k + 2 + m) + 1 \text{ for } j = 2, 3$$
and  $m = k - 2$  or  $m = k$ ,

(iii) 
$$\sum_{i=1}^{n} F_2^{(3)}(k, -ki + m) = -F_2^{(3)}(k, -nk - k + 2 + m) + 2 \text{ for } m = k - 1,$$

(iv) 
$$\sum_{i=1}^{n} F_2^{(2)}(k, -ki + m) = -F_2^{(2)}(k, -nk - k + 2 + m) \text{ for } m = k - 1.$$

Theorem 14 Let  $k \geq 3$ ,  $n \geq k$  be integers. Then

$$\sum_{j=1}^{3} a_j F_2^{(j)}(k,n) = \sum_{i=0}^{p} \binom{p}{i} \left( \sum_{j=1}^{3} a_j F_2^{(j)}(k,n-ik-2(p-i)) \right). \tag{14}$$

*Proof* (by induction on n). Let n = k. Then p = 1 and by the definition of numbers  $F_2^{(j)}(k, n)$  we have

$$\sum_{j=1}^{3} a_j F_2^{(j)}(k,k) = \sum_{j=1}^{3} a_j (F_2^{(j)}(k,k-2) + F_2^{(j)}(k,0)).$$

On the other hand

$$\sum_{i=0}^{1} \binom{1}{i} \left( \sum_{j=1}^{3} a_j F_2^{(j)}(k, k-ik-2(1-i)) \right) = \sum_{j=1}^{3} a_j \left( F_2^{(j)}(k, k-2) + F_2^{(j)}(k, 0) \right)$$

Assume that the equality (14) holds for an arbitrary n. We will prove that

$$\sum_{j=1}^{3} a_j F_2^{(j)}(k, n+1) = \sum_{i=0}^{p} \binom{p}{i} \left( \sum_{j=1}^{3} a_j F_2^{(j)}(k, n+1-ik-2(p-i)) \right).$$

Using the definition of the numbers  $F_2^{(j)}(k,n)$ , we have

$$\sum_{j=1}^{3} a_j F_2^{(j)}(k, n+1) = \sum_{j=1}^{3} a_j F_2^{(j)}(k, n-1) + \sum_{j=1}^{3} a_j F_2^{(j)}(k, n+1-k).$$

Using the recurrence relation and the induction hypothesis we obtain

$$\begin{split} &\sum_{j=1}^{3} a_{j} F_{2}^{(j)}(k,n+1) = \sum_{i=0}^{p} \binom{p}{i} \left( \sum_{j=1}^{3} a_{j} F_{2}^{(j)}(k,n-1-ik-2(p-i)) \right) + \\ &+ \sum_{i=0}^{p} \binom{p}{i} \left( \sum_{j=1}^{3} a_{j} F_{2}^{(j)}(k,n+1-k-ik-2(p-i)) \right) = \\ &= \sum_{i=0}^{p} \binom{p}{i} \left( \sum_{j=1}^{3} a_{j} F_{2}^{(j)}(k,n+1-ik-2(p-i)) \right), \end{split}$$

which ends the proof.

Corollary 15 For j = 1, 2, 3

$$F_2^{(j)}(k,n) = \sum_{i=0}^{p} \binom{p}{i} F_2^{(j)}(k,n-ik-2(p-i)). \tag{15}$$

*Proof.* Putting  $a_1 = 1$  and  $a_2 = a_3 = 0$  in formula (14), we obtain equality (15).

### 4 (2, k)-distance Lucas numbers

In this section we introduce a new generalization of Lucas numbers which is closely related to the (2,k)-distance Fibonacci numbers. This is a sequel of the paper [1]. Let  $k \geq 1$ ,  $n \geq 0$  be integers, j = 1,2,3. Then (2,k)-distance Lucas numbers  $L_2^{(j)}(k,n)$  of the jth kind we define by the recurrence relation

$$L_2^{(j)}(k,n) = L_2^{(j)}(k,n-2) + L_2^{(j)}(k,n-k) \text{ for } n \ge k+2$$
 (16)

with initial conditions

$$L_2^{(1)}(k,0) = 2 \text{ for } k = 1,2,3,$$

$$L_2^{(1)}(k,0) = k \text{ for } k \ge 4,$$

$$L_2^{(1)}(k,1) = k \text{ for } k \ge 1,$$

$$L_2^{(1)}(k,n) = 2 \text{ for } n = 2,3,\dots,k-1,$$

$$L_2^{(1)}(k,k) = \begin{cases} k & \text{if } k = 1,\\ k+2 & \text{if } k \ne 1. \end{cases}$$

for 
$$k \ge 1$$
  $L_2^{(1)}(k, k+1) = k+2$ ,  
for  $k \ge 2$   $L_2^{(2)}(k, 0) = k$ ,  $L_2^{(2)}(k, 1) = 0$ ,  
 $L_2^{(2)}(1, 0) = 2$ ,

$$L_2^{(2)}(k,n) = \left\{ \begin{array}{ll} 0 & \text{if $n$ is odd} & \text{and } 3 \leq n \leq k-1, \\ 2 & \text{if $n$ is even} & \text{and } 2 \leq n \leq k-1, \end{array} \right.$$

$$L_2^{(2)}(k,k) = \left\{ \begin{array}{ll} k & \text{if } k \text{ is odd,} \\ k+2 & \text{if } k \text{ is even,} \end{array} \right.$$

$$L_2^{(2)}(k, k+1) = \begin{cases} 0 & \text{if } k \text{ is even,} \\ 2 & \text{if } k \text{ is odd and } k \neq 1, \\ 3 & \text{if } k = 1, \end{cases}$$

$$L_2^{(3)}(k,0) = 2 \text{ for } k \neq 3,$$
  
 $L_2^{(3)}(3,0) = 1,$   
 $L_2^{(3)}(k,1) = 2 \text{ for } k \neq 1.$   
 $L_2^{(3)}(k,n) = 1 \text{ for } 2 < n \le k-1,$ 

$$L_2^{(3)}(k,k) = \begin{cases} 1 & \text{if } k = 1, \\ 4 & \text{if } k = 2, \\ 3 & \text{if } k \ge 3, \end{cases}$$

$$L_2^{(3)}(k, k+1) = \begin{cases} 3 & \text{if } k \neq 2, \\ 4 & \text{if } k = 2. \end{cases}$$

In the paper [1] they were introduced numbers  $L_2^{(1)}(k,n)$  and  $L_2^{(3)}(k,n)$ . Table 6 includes initial words of (2,k)-distance Lucas numbers of the second kind for special k and n.

 $L_2^{(2)}(1,n)$  $\overline{L_2^{(2)}(2,n)}$ 

0 10 0

Tab.6. (2, k)-distance Lucas numbers of the second kind

Note that for k=1 we have  $L_2^{(2)}(1,n)=L_n$ .

By the definition of the numbers  $L_2^{(1)}(k,n)$  and  $L_2^{(2)}(k,n)$  we can observe the following relations.

Let  $k \geq 2$ ,  $n \geq 0$  be integers. Then for even k and even n

$$L_2^{(1)}(k,n) = L_2^{(2)}(k,n).$$

Let  $k \geq 3$ ,  $n \geq 0$  be integers. Then for odd k

$$L_2^{(1)}(k,n) = L_2^{(2)}(k,n+2).$$

**Theorem 16** Let  $k \geq 2$ ,  $n \geq k$  be integers. Then

$$L_2^{(2)}(k,n) = 2F_2^{(2)}(k,n-2) + kF_2^{(2)}(k,n-k). \tag{17}$$

*Proof* (by induction on n). Let n = k. Then by the definitions of  $L_2^{(2)}(k, n)$  and  $F_2^{(2)}(k, n)$ , for odd k we have

$$L_2^{(2)}(k,k) = k = 2F_2^{(2)}(k,k-2) + kF_2^{(2)}(k,0).$$

For even k we obtain

$$L_2^{(2)}(k,k) = 2 + k = 2F_2^{(2)}(k,k-2) + kF_2^{(2)}(k,0).$$

Assume that the formula (17) holds for an arbitrary n. We will prove it for n+1. By the recurrence definitions of the numbers  $L_2^{(2)}(k,n)$  and  $F_2^{(2)}(k,n)$  and by the induction hypothesis, we have

$$L_2^{(2)}(k, n+1) = L_2^{(2)}(k, n-1) + L_2^{(2)}(k, n+1-k) =$$

$$= 2F_2^{(2)}(k, n-3) + kF_2^{(2)}(k, n-k-1) + 2F_2^{(2)}(k, n-1-k) +$$

$$+ kF_2^{(2)}(k, n+1-2k) = 2F_2^{(2)}(k, n-1) + kF_2^{(2)}(k, n+1-k),$$

which ends the proof.

Theorem 17 Let  $n \geq 0$ . Then

(i) 
$$\sum_{i=0}^{n} L_2^{(2)}(k,2i) = \begin{cases} L_2^{(2)}(k,2n+k) - 2, & \text{if } k \text{ is even} \\ L_2^{(2)}(k,2n+k), & \text{if } k \text{ is odd}, k \ge 3, \end{cases}$$

(ii) for  $k \geq 3$ 

$$\sum_{i=1}^{n} L_2^{(2)}(k,ki) = L_2^{(2)}(k,kn+2) - 2.$$

*Proof.* (i) (by induction on n). We prove formula (i) for even k. It is easy to check that (i) holds for n = 0. Assume that equality (i) is true for an arbitrary n. We shall prove that it is true for n + 1. By the induction hypothesis and the definition of numbers  $L_2^{(2)}(k,n)$ , we have

$$\sum_{i=0}^{n+1} L_2^{(2)}(k,2i) = \sum_{i=0}^{n} L_2^{(2)}(k,2i) + L_2^{(2)}(k,2n+2) =$$

$$= L_2^{(2)}(k,2n+k) - 2 + L_2^{(2)}(k,2n+2) = L_2^{(2)}(k,2n+2+k) - 2,$$

which ends the proof.

Similarly we can prove (i) for odd  $k, k \geq 3$ .

(ii) Analogously as in (i).

### References

[1] U. Bednarz, D. Bród, M. Wołowiec-Musiał, On two types of (2, k)-distance Lucas numbers, Ars Combinatoria (2014), in print.

- [2] U. Bednarz, A. Włoch, M. Wołowiec-Musiał, Distance Fibonacci numbers, their interpretations and matrix generators, Commentationes Mathematicae 53 (2013), No.1, 35-46.
- [3] S. Falcon, A. Plaza, The k-Fibonacci sequence and the Pascal 2-triangle, Chaos, Solition and Fractals 33 (1) (2007), 38-49.
- [4] S. Falcon, A. Plaza, On the Fibonacci k-numbers, Chaos, Solitons and Fractals (32) 2007, 1615-1624.
- [5] E. Kiliç, The generalized order-k-Fibonacci-Pell sequence by matrix methods, Journal of Computational and Applied Mathematics 209 (2007), 133-145.
- [6] M. Kwaśnik, I. Włoch, The total number of generalized stable sets and kernels of graphs, Ars Combinatoria 55 (2000), 139-146.
- [7] The On-Line Encyclopedia of Integer Sequences.

- [8] A. Włoch, On generalized Fibonacci numbers and k-distance  $K_p$ -matchings in graphs, Discrete Applied Mathematics 160 (2012) 1399-1405.
- [9] A. Włoch, Some identities for the generalized Fibonacci numbers and the generalized Lucas numbers, Applied Mathematics and Computation, 219 (2013) 5564-5568.
- [10] I. Włoch, U. Bednarz, D. Bród, A. Włoch, M. Wołowiec-Musiał, On a new type of distance Fibonacci numbers, Discrete Applied Mathematics 161 (2013) 2695-2701.